
Rita Jiménez Igea. 

 

 

3.1      LA BOLSA 

 

NOMBRE Y APELLIDOS: 

 

CURSO:                                     FECHA: 

DÍA 1.-  

La empresa ha obtenido  

____   de beneficio. 

Te llevas  el ____ % 

¿Cuántos euros te llevas? 

                      D 

   100%  --------->         

          %  --------->  x   

 

Operaciones: 

 

 

 

 

 

Solución: 

DÍA 2.-  

La empresa ha obtenido  

____   de beneficio. 

Te llevas  el ____   % 

¿Cuántos euros te llevas? 

                      D 

   100%  --------->         

          %  --------->  x   

 

Operaciones: 

 

 

 

 

 

Solución: 

DÍA 3.-  

 La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____  % 

¿Cuántos euros te llevas? 

                      D 

             --------->          

              --------->    x   

 

 Operaciones: 

 

 

 

 

 

Solución: 

DÍA 4.-  

La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____ % 

¿Cuántos euros te llevas? 

                      D 

             --------->          

              --------->    x   

 

Operaciones: 

 

 

 

 

 

Solución: 

DÍA 5.-  

La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____  % 

¿Cuántos euros te llevas? 

                      D 

             --------->         

              --------->     

 

Operaciones: 

 

 

 

 

 

Solución: 

DÍA 1.-  

La empresa ha obtenido  

____   de beneficio. 

Te llevas  el ____ % 

¿Cuántos euros te llevas? 

                      D 

   100%  --------->         

          %  --------->  x   

 

Operaciones: 

 

 

 

 

Solución: 

DÍA 2.-  

La empresa ha obtenido  

____   de beneficio. 

Te llevas  el ____   % 

¿Cuántos euros te llevas? 

                      D 

   100%  --------->         

          %  --------->  x   

 

Operaciones: 

 

 

 

 

Solución: 

DÍA 3.-  

 La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____  % 

¿Cuántos euros te llevas? 

                      D 

             --------->          

              --------->    x   

 

 Operaciones: 

 

 

 

 

Solución: 

DÍA 4.-  

La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____ % 

¿Cuántos euros te llevas? 

                      D 

             --------->          

              --------->    x   

 

Operaciones: 

 

 

 

 

Solución: 

DÍA 5.-  

La empresa ha obtenido  

____    de beneficio. 

Te llevas  el ____  % 

¿Cuántos euros te llevas? 

                      D 

             --------->         

              --------->     

Operaciones: 

 

 

 

 

 

Solución: 

 


